2024 (R6) EEA2 KRR (= SREY - ANEY]

5 2RI

F H SEANE | TREE ZERE =Lk R
RKXFEFR 35 73 72 43 1.7
BER 7 7 5 1.4

o g i ®EZ 18 18 5 3.6
FREEFFEH e 14 5 - - -
BARARREHZR 7 7 4 1.8

gt ¥ F 12 51 51 12 43
EfFHEZE ET4 8 8 5 1.6

FRAERERER

OF R RR (—HY)

z ® % B&EANE | EHREE ZEBRE BRE EE

£H 38 145 145 51 2.8

EXZE e 10 12 12 7 1.7

#EB ™ 2 3 3 1 3.0

£H 30 48 48 33 15

EXFERE L3S 8 4 4 4 1.0

#MEB ™ 2 3 3 2 15

£H 40 135 135 47 2.9

FREEFEH e 16 34 34 22 15

#EB ™ 4 3 3 1 3.0

£H 35 85 84 46 1.8

gt S E e 17 30 30 20 15

#EBH 3 5 5 3 1.7

£H 32 69 69 37 1.9

a4 | =2t ILEE 8 10 10 8 1.3

#MEBH 2 5 5 4 1.3

£H 15 29 29 17 1.7

EfR#HEZE ILEE 3 5 5 4 1.3

ZE™ 1 0 - - -

OFRHBIER (B)

2 H SEANE | TREE ZERE =Lk R

EFE#EZE ET4 2 2 1 2.0
OXRZAZFHBET AN AERHEBEILER

z ® S5 ANE | SREE ZERE BRE EE

FREEFH 15 55 55 18 3.1

gt &2 E 10 39 39 14 2.8

a9 g A=t 18 18 18 18 1.0

EfF#HEZE ET4 14 14 2 7.0




Orif#iHE

z ® S5 ANE | EREE ZERE BRE EE
EXZFE 20 92 92 40 2.3
EXFE 15 78 78 54 1.4
FREEFH 25 111 111 55 2.0
it =FH 25 111 111 56 2.0
a9 g A=t 23 111 111 64 1.7
EfFHEZE 10 45 45 22 2.0

ORI KFFHHTE

= o HEAE | EEE S akE EES
EXZE 50 545 294 120 2.5
EXFE 30 342 138 85 1.6
FREEFH 66 604 271 141 1.9
it =FH 48 471 239 103 2.3
a9 g A=t 37 317 154 82 1.9
EfF#HEZE 11 108 51 24 2.1

OrI#iB%E

z ® Bim |enEREs|aRERES|SRETYA
EXZFE 500 454 4 389.6 410.7
TR 5RIE R 600 464.5 398.0 4258
RXFH HBER 400 367.5 292.0 309.2
FREEFH 600 510.0 434.0 456.9
it =FH 500 438.9 358.3 377.6
a9 g A=t 600 501.5 4240 450.1
EfF#HEZE 500 4455 358.5 386.9

ORI KEFFH BT

z ® Bim  |enERSs|aRERES|ARETYA
EXZFE 800 649.6 473.2 537.4
TR, 5% BE 800 673.5 569.0 601.9
RXFH L 600 | 4760 | 3510 | 4057
stk g o 5% BE 1200 956.2 749.0 806.6
FRARTH —maEm 800 | 5530 | 4640 | 5008
gt &2 F 700 560.0 403.5 4511
a9 g A=t 600 535.3 3455 418.2
EfF#HEZE 700 550.3 394.2 455.8
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